dB

dB

TSE 6040 Horizontal - Frequenzgang Off Axis (+)

1000 2000 4000
fiHz

TSE 6040 Vertikal - Frequenzgang Off Axis (+)

1000 2000 4000
fiHz

8000

8000

16000

16000

0z
108
209
30
40

0z
108
20g
30
400

TSE 6040 Horizontal - Frequenzgang Off Axis (-)

dB

125 250 500 1000 2000 4000 8000 16000
f/Hz

TSE 6040 Vertikal - Frequenzgang Off Axis (-)

dB

125 250 500 1000 2000 4000 8000 16000
f/Hz

-40g
-302
-208
-108
0g

-40g
-302
-20g
-108
03




12

18 |

24

-30 -

-36 -

42
-1808

12

18

24

-30 -

-36 -

42
-1802

-1508

-1508

-1208

-1208

TSE 6040 Horizontal - 3D Directivity Plot

~ 125
250
500

1000
2000 f[Hz]

4000
8000
T T T T T T T 16000
-902 -608 -308 0z 308 603 903 1208 1508 1808
Grad
TSE 6040 Vertikal - 3D Directivity Plot
~ 125
250
500
1000
2000 f[Hz]
4000
8000
16000
-902 -608 -308 0z 308 603 903 1208 1508 1808

Grad

0oo-6
m-6-0
m-12-6
m-18-12
m-24-18
W-30-24
m-36-30
0-42--36

00-6
m-6-0
126
m-18-12
m-24-18
-30-24
H-36-30
0-42-36

125

TSE 6040 Horizontal - 2D Directivity Plot

1802

1508

1208

908

608

308

0z Grad

-308

-608

-908

-1208

-1508

1802

500

1000 2000 4000 8000
f[Hz]

TSE 6040 Vertikal - 2D Directivity Plot

16000

1802

1508

1208

250

908

608

308

0z Grad

-308

-608

-908

1208

1508

1802

500

1000 2000 4000 8000
f[Hz]

16000

003
=-30
-6-3
0-9-6
m-12-9
m-15-12
m-18-15
g-21-18




Impedance TSE6040/K2 Nom.= 8 Ohm Min.= 4, 5 Ohm

TSE 6040 Horizontal / - 6 dB Isobaren
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